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ECONOMICS
Paper 11

Time Allowed : 1% Hours] [Maximum Marks : 100

Note :— This question paper consists .of fifty (50) questions with multiple choice
answers. Each question carries two (2) marks. Attempt all questions.
1. The Soviet Union pursued a policy of :
(A) High investment and low consumption
(B) High consumption and low investment
(C) High investmen‘t and high consumption
(D) Low investment and low consumption
2. Shock therapy refers to :
(A) Rapid privatisation and liberalisation of the economy
(B) Establishment of legal and financial system
(C) Distributing the state’s assets to their most productive users
(D) Setting in place durable democratic reforms
3. IS-LM model has been formulated by :
(A) P.A. Samuelson
(B) J.M. Keynes
(C) J.R. Hicks

(D) Modigliani
T.B.C. : 1714/ET—II 2



wva-gx 11

g 1% W ’ (g : 100
HE : ¥ 9H-99 ¥ 9o (50) SEasedid wA € | 9% uvE @ af (2) 3% T wedt
weHEl & IO gifed | -

| W w3 fea AR s k2
(A) 3=a @7 w@ e 39dm
| (B) T T @ e A
(C) ==a fAw wd s== sodm

| (D) frer Frdw wd Frer Iwm

.2. ‘viff fatdft’ (Shock therapy) ¥ #Ifawz %
(A) dra i ud Sdsmas 1 FEOEw
(B) fafumw v fasia =gz =1 729
(C) T2 =1 yawfadi =1 9% 999 Foedt 39um & fau fJusm
(D) TUTHT WSS U w1 e

3. IS-LM #fzga = wfawes f&es g &3 ™ & 2
(A) dig. fgeEA
(B) H.uH. I
(C) I famw

(D) wEtreaE
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4. How can the inflationary gap at full employment be removed -
(1) By increasing output to absorb excess demand
(2) By imposition of tax to mop up the surplus
(3} By rise in voluntary saving of the community
(4) Through increase in ‘money' supply
(A) Only (1)
(B) (1), (2) and (3) only
(C) (1) and (3)
(D) All of the above
5. Coase’s theorem deals with :

(A) Solution to the problem of externalities in term of well-defined and

exchangeable property rights
(B) Internalization of externalities
(C) Pricing of public goods
(D) None of the above
6. Role of Human capital in economic growth can be characterised as :
(A) It helps in increasing output through increase in productivity
(B) It is an instrument of social and economic change
(C) It leads to an increase in inventions and innovations

(D) All of the above

T.B.C. : 1714/ET—I1I 4



4. YU TSR w1 FEE] H TRiaeR SaUd H hy gL fh@ 1 wa § 2
(1) zares § gfz 8 o Ged sfefes a5t = 982 -1 99
(2) wUuE & z ou8 afais = whHa &3 o 5%
(3) TEE =i s w=d d 3fs 2 5|
4) g3 &1 gfd § gz & gW
(A) =haa (1)
(B) (1), (2) W& (3) Fa=A
(C) (1) wd (3)
(D) Iwg= |t ¥
5. = W wha fead datm ¥ 2

(A) aETmEl = g9en o1 guiaita va fafmadrg oftesfs sfasd & w9 #
framm

(B) @regarsli &1 SHE
(C) w1 agsit il godifea e
(D) 9= § | +g T
6. onfdw wgfg § g I =1 yfgew =1 faaw 39 war e o = %
(A) THY weE@ § gfs 1 weEa @ s § gie a
(B) 9% WHife® Ud aNfde® @cend &1 9As ¥
(C) 359 anfaswil Ua o § Ifg B
(D) 39da |
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7. ICOR can be found out as follows

AK
o 2
capital requirement of growth
&G = 2 or I = GV
-3 = _

Here,
(A) I stands for incremental capital, G for growth, V for velocity of money

(B) I stands for required rate of capital formation, G for growth and V
for ICOR

(C) T for investment, G for growth, V for velocity at which money is
circulated 2
(D) None of the above
8. The first Human Development Report (HDR) of India was issued in the
year :
(A) February 1999
(B) January 2000
(C) April 2002
(D) June 2002

9. Which of the following is the largest source of revenue for Government of India
for the year 2014-15 ? :

(A) Excise Duty
(B) Corporate Profit Tax
(C) Personal Income Tax

(D) Sales Tax
T.B.C. : 17/14/ET—I1 6



7. ICOR I 59 UoR =909l =1 H¥5a §

AK
Wi
AY

Hefe % fau smavas I

G= s [ = GV

1
v
el
(A) I =1 x4 & 3fg O5it, G =1 539 & |afg, V =1 &1id § 1= 1§30
(B) 1% @id & sh Pmiv =1 o@fgn <7, G W1 59 ¥ Wgfz, vV =1 3d ¥ ICOR
(©) I =i % P, G wad & waE, V@ ad & @ @ wmer w A
(D) 3vdaa # F = =
8. N = ¥g" ‘mEa fawmm @2’ (HDR) &3 ad § st =t 73 41 ?
(A) HET 1999
(B) SH=E{ 2000
(C) =1%= 2002
(D) I 2002
9. =9 2014-15 & Tou 9w ¥R & fau F= § 9 59 &9 | afasoq o9 Wd
R 7
(A) 3" qTH
(B) T\ =19 =1
(C) =it amast

(D) =T
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10. As per census 2011 dat.a which of the following states have literacy rate below

the national average ?
(1) Bihar
(2) Rajasthan
(3) Himachal Pradesh
(4) Uttar Pradesh
(A) (1), 2), (3)
(B) (3), (4)
(C) (1), (2), (4)
(D) (2), (3), (4)
11. What are the Millennium Development Goals ?
(A) Set time limited development targets
(B) Quantifiable targets across 8 areas of development
(C) Aimed at eradication of extreme poverty and hunger by 2015
(D) All of the above |
12. What was the Brundtland Commission ?
(A) The World Commission on economic gmwth
(B) The World Commission on worldwide neo-liberal reform
(C) The World Commission on environment and development _

(D) The World Commission on trade and development
T.B.C. : 1714/ET—11 8



10. 2011 = FHUHET ® AwSl ® ogen = H | fE o w e 3 o s
ada e ?

(1) fa=r
(2) T
(3) femram waw
(4) W WRY
(A) (1), (2), (3)
(B) (3), (4)
(C) (1), (2), (4)
(D) (2), (3), (4)
11. foaifrag fas=m ©129 (Millennium Development Goals) FH-8 § ?
(A) 999 =g (time limited) f&FmE @
(B) fawmm & =@ &8 & fau wvara @is
(C) sfa-nitdlt wd wEwdt F1 T 2015 9% I
(D) 3I9daa a4l
12. #=Z  (Brundtland) FH9E ¥ @1 ?
(A) anfds wafe = a2 FHTA
(B) favasgmdt Tg-z=ri{imn gur W FFE FHHYH
(C) wafaTw ud famm W FeE wHve
(D) =R v faem W =€ A
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13. For decades, Japan has imported raw material from Australia, while Australia |
_purchased heavy equipments from United States. Furthermore Japan has
exported consumer goods to United States. This is an example of :

(A) Multilateral Trade
(B) Bilateral Trade
(C) Protectionism .
(D) Absoluted Advantage
14. If the coefficient of cross elasticit.y is equal to zero; it means :
- (A) Both the goods are close substitute
(B) Both the goods are great complements
(C) Both the goods arel .unrelated
(D) None of the ;bove
15. At the point of inflexion, the marginal utility is :
(A) Negative
(B) Decreasing
(C) Maximum
(D) Increasing

16. If the demand for a good is unitary elastic, then price consumption curve (PCC)
would be :

(A) Vertical Straight Line.
(B) Upward Sloping
(C) Downward Sloping

(D) Horizontal Straight Line
T.B.C. : 17T14/ET—II 10



13. =y &, s srefem ¥ wem T sTaW w1 @ g, wats snefeen d@ge o

14.

15.

16.

e A Wit TEw @i W ¥, e s wm seiE awgsl .1 wgE
safr =t Fafm & & ) g7 feas =mwm 2

(A) =EUs@ =A9R

(B) fEusim =mr

(C) FravmEe

(D) gy =y

i faedt =g @ UTE Y W aUed ¥, A v Y ¥ o
(A) 2 Tmd TH-gR W free ufmans §

(B) BF wEd TH-T W I TH T
(C)aﬁmaﬁmm:@ﬁﬂimaﬁt

©) T § @ W E

Afa uftsds f&= (Point of Inflexion) W& HiHr= Iydifam ¥ :
(A) T

(B) fean &=n

(C) #Hu=an

(D) =3 B3

T = W A W oS YR % AUak § 99 sima S9Rer e S it 2
(A) U% =51 g d@dt =

(B) 9T Fl AR T ATl

(C) = =1 3R o =t

(D) #Afgsia &dt T
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17. Condition(s) for producer’s equilibrium is/are :

WK r
MP, _ MPyg
(2) w r

(3) Isoquant should be tangent to the iso-cost line
(4) Isoquants must be convex to the origin
(A) (1) only
(B) (1) and (2) only
(C) (1), (2) and (3) only
(D) All of the abdve
18. Euro is the currency of European Union. When did it come into being ?
(A) 1999
(B) 1995
(C) 2000
(D) 2001

19. Encouraging the production and exports of goods in which the country has
a comparative advantage is the strategy called :

(A) Export-led growth
(B) Dynamic comparative advantage
(C) Import substitution

(D) Laissez faire
T.B.C. : 1714/ET—I1 12



17. 39E® = dged $ FEE v §F

MP, W

@ Mpe T F
MP, _ MP

(2) W‘* = r“

(3) TH-INUR FAF FE-TWE & a?t.w_ﬂ Hen =g
(4) F9-IOR 9% To g F1 i TR @ aSifeg
(A) (1) Fa=
(B) (1) T (2) Ha=
(©) (1), (2) T (3) Faa
(D) 3w ot
18. 7Ffya" & & 43 Z0 T | 9% w4 fwa § 3w ?
(A) 199_9 .
(B) 1995
(C) 2000
(D) 2001

19. mwﬁmmﬁﬁm't&maﬁmhmﬁmﬁmm
=Y B, 9% WEA FeaE € :

(A) Fafa-wem §35f

(B) Tiagiiel gernas v .
(C) @@ wiasars

(D) @Y (Laissez-faire)
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20. Which of the following taxes is/are levied by the Union and collected and

21.

23.

appropriated by the states ?
(A) Stamp duties

{B) Passenger and good tax
(C) Estate duty

(D) Taxes on newsp;aper

Which of the following taxes is the largest source of revenue for government
of India ? .

(A) Excise Duty
(B) Customs Duty

(C) Income Tax -

(D) Wealth Tax

Which of the following taxes is levied and collected by the Union, but assigned
to the state ?

(A) Sales Tax

(B) Octroi

(C) Excise Duty

(D) Consignment Tax

The correct sequence of the increasing order of per capita GNP of given countries
is :

(A) Sri Lanka, China, Ethiopia, India

(B) India, Sri Lanka, Ethiopia, China

(C) Ethiopia, India, Sri Lanka, China

(D} Ethiopia, Sri Lanka, India, China

[.B.C. : 17/14¢/ET—II 14



20.

21.

22.

fr # ¥ TH-HY FT €Y I SEV/ETE SE/ER WE 99 9 g TR
fafrfoa oy ey smem 272

(A) &=™7 Y=

(B) @rit wE AW W

(C) §9a1 Y=

(D) =gIAIL 9T F

fre § ¥ P F YRE TR # fon sfuwen ToE w1 OEA 8 7
(A) TR ITF

(B) &&=H Y[t=

(C) T+t

(D) T

ﬁmﬁ%mmﬁamm@wﬁaﬁmmt,ﬂﬁmnﬁﬁmﬁm
o § 2

(A) Tzt =1

(B) =it

(C) 39" T

(D) @9 &< (Consignment Tax)
ﬁ@iﬁ%uﬁmﬁamu@ammWWWWt?
(A) #ieit, =, gaTa, S

(B) WRa, #iei=1, se@ifwa, ==

(C) i, e, =, ¥

(D) 3oifyen, #ier, WRE, 9
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24. Match the following and give correct answer from the codes given below :
(@) Critical minimum effort theory (i) H. Leibenstein
(6) Economic Development with (i) W.A. Lewis

unlimited supply of labour

(¢) Big push theory (7ti) Rosenstein Rodar
(d) Sales maximisation theory - ) W.J. Baumol
Codes :

@ ® @© (@
A) G) G G Go)
® G O G G
©) @) G G G
D) Gi) G ) . Gv)

25. Subsidies on food and fertilizers represent a sizeable and growing item of
Centre’s non-plan expenditure. In case of food subsiay the rising trend is

attributable to :
(A} Storage and distribution of food grains
(B) Increase in food grain stocks

 (C) Increasing cost of procurement

(D) All of the above
T.B.C. : 1714/ET—I1 16



24, ﬁwwﬁmaﬁﬁrqamﬁfaﬂ@agz%uﬂﬁmgﬁq:

(@) Trfewe fafmy owd =@ (@) WE. TEERET

&) THrfaE Taeode fag awfefies (i) s=gu w@n
HEE 3F SEw

(c) fanm gqur =@ (i) TS =R

(d) Fo9 feRimEdes = (iv) ZT=g.N. =HE

H_E :

@) ) (@ (@ -
(A () @) G Go)
B) @) @ v GH)
C) ) @ G G
D) G&) G @) ()

25. W@Wm%%%h—%mmmmwmmm
&, @ afmEt # drd § mded = o9 fFaw s & 2

(A) &= 1 Yenw ua fawoo
(B) Em=m= =fF # 3fp

(C) =ir srm § gz

(D) 3wdsa g+

T.B.C. : 1714/ET—I1 17 PT.O.



26. The Constitutional Amendment Bill that seeks to amend the constitution to
authorise the centre to levy, collection and appropriation of the Goods and Service
Tax (GST) was introduced in Lok Sabha by the Finance Minister in year :

(A) March, 2011
(B) March, 2010
(C) March, 2012
(D) March, 2013

27. The expectation of the sampling distribution of the statistic is equal to :
(A) Population parameter E(X) = u
(B) Population variance

o -
x

(C)

(D) Standard error of the concerned statistic
28. Judgement sampling is an example of :
(A) Probability sampling X
(B) Non-probability sampling
(C) Both probability and non-probability sampling
(D) None of the above
29. Chi-square test is used to :
(A) To test goodness of fit
(B) To test the independence of attributes

(C) To test the differences in the means of two samples

(D) Both (A) and (B)
T.B.C. : 1714/ET—I1 18



26. mmmw&mmﬁmmmmtﬁs%mm
@Wm(mﬂmm,wﬁammqﬁﬁmmm%ﬁmﬁ
o G ww F few 9d § w1 fem o 2

(A) =€, 2011
(B) |, 2010
(C) =r€, 2012
(D) =€, 2013
27-memaﬁm ......................... %mﬂ?ﬂ%l

(A) gaf= y=a E(X) = p
(B) wuie fases

(<

(D) =& =t "9As gz
28. =¥l g (Judgement Sampling) = 1 THE TR T |
(A) wifgwar =yl
(B) TR-wmfgwa ==
(C) wimwm =yl ag fR-wiigswa =y
(D)avgaaﬁaaﬁééﬁ
29. #E WA (Chi-square) TAHY F1 warm B ¥ -
(A) =98 A% fee =1 wisw w01 2 fou
(B) Evmmiedi #t =mo=m $ gisw & fau
(C) |1 = w3l & W 3 it B gimvr # fow

(D) (A) 3 (B) =Hi
T.B.C. : 1714/ET—II 19 P.T.O.



30. Which of the following factors affects cropping pattern in India ?
(1) Water supply
(2) Soil
(3) Land tenure system
(4) Government policy
(A) (1), (3)
(B) (1), (4)
(C) ), (2), (4)
(D) (1), (2), (3),«4)

31. Which of the following provisions are correct in case of Kisan Vikas Patra (KVP)
relaunched on November 18, 2014 by Government of India ?

(1) The amount invested in KVP would get doubled in 100 months

(2) KVP certificates can be encashed after a lock-in period of 30 months

(3) KVP certificates cannot be issued in joint names and cannot be transferred
(4) Investors would not get any tax benefits for their investment in KVP

(A) (1), (2), (4)

(B) (1), (2), (3)

(C) (1), (3), (4)

(D) (1), (2), (3), (4)
.B.C. : 1714/ET—II 20




30. =1 & | F¥H FRv Iwa # v #t vt s watsa w1 § 2

(1)
(2)
(3)
(4)
(A)
(B)
(C)
(D)

e S

fazgt

Y 92T (Tenure) womEt
Raieaniliiin)

(1), (3)

(1), (4)

(1), (2), (4)

(1), (2), (3), (4

31. WA WWER BRI 18 FHER, 2014 W YA: @Y Ry W fawm Bewm ww (S
F wed § s F ¥ R gawm wd ¥ 2

(1)
(2)

(3)

(4)
(A)
(B)
(C)

(D)
TB.C. :

At § fafta af 100 wEE # AR @ st

ﬁ.m.ﬁ.mﬁsomﬁm-mm%mw%mw
& s www %

w1 wfEfmhadl t TgF T (Joint Names) & e =@ 957 fear =1 ==
N A OO T B wHe

favsl & S99 § 5 T g w o8 = = e 75 i
(1), (2), (4)
(1), (2), (3)
(1), (3), (4)

(1), (2), (3), (1)
17/14/ET—II : 21 P.T.O.



32.

33.

34.

The H-O model is a simplification of the truely general equilibrium model because

it deals with :

(A) Two nations

(B) Two commodities

(C) Two fac;:ors of production
(D) All of the above .

Which of the following is not an element of the redistribution with growth policy
approach 7

(A) Minimum wage legislation
(B) Land reforms

(C) Progressive‘ taxation

(D) Increased access to education

Marginal Revenue (MR) curve is twice as steep as the average revenue (AR)

curve :

(A) In case of perfectly competitive market
(B) In the case of monopoly market

(C) In the case of both

(D) None of the above

In the case of Increasing-cost Industry, Long-run supply curve of Industry
would be :

(A) Upward sloping
(B) Vertical

(C) Horizontal

(D) Downward sloping

T.B.C. : 1714/ET—II 22
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32,

H-omm,ﬁmmmmwmmtmw,m
Hafua ¥ :

(A) < o=

(B) =1 =%

(C) == = < |

(D) 3957 Wi
mﬁ@mmm%mm%aﬁmﬂmﬂﬁ%?
(A) =gFam wegdl faum

(B) 9-gur

(C) wfaeiter Fe-womeht

(D) Tnan =7 =at uds

HE ST G siea s @ @ SR diw zers aen g w o

(A) gof wfedrft s =t saen .

(B) THII9$R a9 #1 sEee §

(C) == wEEensdi &

D) 3ud= § | feft # ot 5

Fdt @ IEm W e d, Om w1 Adweis 9 = R wER @ 2 2
\B) TR IR ZEE aen

(B) fawg-=da (Vertical)

(C) WH-={4a (Horizontal)

(D) 519 =+ 2 o= &=

T.B.C. : 1714/ET—I1 23 P.T.O.



36. Shape of short-run average cost and marginal cost curves under modern

theory of cost is :
(A) U-shaped
(B) L-shaped
(C) Saucer-type shaped >
(D) Inverse S-shaped
37. Female literacy in Himachal Pradesh as per census 2011 is :
(A) 65.46%
(B) 73.51%
(C) 84.05%
(D) 68.85%
38. What was the per capita income of India during 2014-15 at current prices ?
(A) Rs. 88,633
(B) Rs. 64,316
(C) Rs. 71,593
(D) Rs. 80,388
39. Public goods are :
(A) Non-excludeable and non-rival
(B) Excludeable and rival
(C) Non-excludeable but rival

(D) Excludeable and non-rival

T.B.C. : 17T14/ET—I1 24



36. amﬁmm%%dﬁm@z%mwmmmmm
am 2

(A) U-amar =
(B) L-3T%R =1
(C) =2 # sMFR F1 (Saucer ;:ype)
(D) 3 S-3M=R =
37. 201 F IOA ® FTER ferew wdw F ufeen wiewar w9 = & -
(A) 65.46%
(B) 73.51% 2
(C) 84.05%
(D) 68.85%
38. WRa # 2014-15 B I | wIEAT 90 wfa-safam s w2
(A) 88,533 =.
(B) 64,316 %.
(C) 71,593 %.
(D) 80,388 =.
39. wEwFw wwqd A0 ¥ -
(A) T-zaliys wF -wfeend
(B) Edys ud wfaogsdf
(C) R-s=09s ug wfaead]
(D) FFates ud fr-whaedt
[.B.C. : 1714/ET—II 25 P.T.O.



41.

42.

Shut-down point or Closing-down point is :

(A) When total revenue is equal to total variable cost
(B) When total revenue is equal to total fixed cost
(C) When total revenue is equal to total cost

(D) When average revenue, is equal to aveﬁge cost
According to W.J. Baumol; firms want to maximize :
(A) Its sales subject to zero profit

(B) Its sales subject to minimum profit constraint

(C) Its sales only

(D) Its utility function

As per census 2011 d.ata; population of Himachal Pradesh increased between
2001 gnd 2011 by :

(A) 13.84%

(B) 17.64%

(C) 12.94%

(D) 13.89%

Permanent consumption is a function of :

(z) The rate of interest

(#i) The propensity to consume of thé consumer
(iii) The ratio of property and non-property income to the total wealth
(A) (ii) only

(B) () and (ii) only

(©) (@ only

(D) All the three

T.B.C. : 17/14/ET—II 26



40. IR X fag ¥
(A) @ 7 3" (TR) 5@ wfEdwie @ rm & s 2
(B) 59 =& 7™ (TR) |& o &\ & 0=t &
(C) 59 &« 3™ (TR) fi&1 &' & =Ual &
(D) 5= #Ha s (AR) shga @ra & avEt ¥
41. THYSR. AEE B SAEN BH sfumEy wET wSwd ® o
(A) =5 == = 3= @ 3 wig
(B) #17t famt =1 =Faw = =1 wd & @iy
(C) &= g1 fast
(D) HAY IqGIT wer
42, 2011W%m%m.mzm1ﬁmnﬁmmaﬁm
= =
(A) 13.84%
(B) 17.64%
(C) 12.94%
(D) 13.89%
43. Tt I9YT wEd R o:
(@) =S W e
(i) I9¥@EN FT I9€m wgfa
@) |A T (total wealth) ¥ wafa it f-wwfa @@ #1 som
(A) &9 (i)
(B) () @3 (i1) ®aa
(C) Faa (i)

(D) |4t 9= ,
T.B.C. : 1714/ET—I1 27 : P.T.O.



44. Measured income will exceed permanent income, if :
(A) Transitory income is positive
(B) Transitory income is negative
(C) Transitory income is unchanged
(D) None of the above

45. Who said it, “The increasing returns to scale occurs because larger scale provides
greater specialization to various factors” ?

(A) Samuelson

(B) Chamberlin

(C) Joan Robinson _
(D) Marshall

46. For knowing the differences in consumers preferences for a new product among
the people in different states of India, we shall use the :

(A) Z-test
(B) T-test
(C) Chi-square test
(D) All of the above
47. Type I error occurs when :
(A) We reject Hy when it is true
(B) Accept H,; when it is wrong
(C) Reject H, when it is true
(D) None of the above
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44. =@t 7 (FdEE) WP @ omm [ osfuw AR afr -
wmrzﬂ (Transitory) 33 Y9709 &

(B) 3ot (Transitory) 203 HUIHF ¥

(C) H= (Transitory) 3749 smfiafig 2

D) == d | = =

45. wﬁwﬁmt."m%a@uﬁmmmﬂﬁ:mmmm%
Wy W s GRS wem o & 2

(A) e

(B) =i

(C) =i WMa—= =
D) wrefer '

6. TF T4 9% (New Product) % e wia & = 1odi 3 w3 a8 =i 33 afiaasi
(mﬁmﬁ)aﬁﬁ%mmmﬁﬂ:wmﬁmm% ?

(A) Z-vemr fafy
(B) T-witgyor fafy
(C) wE—T==gr gitay fafy
(D) =wdaa =t
7. 291 FfE (error) Ta it ¥ :
(A) Hy, F1 g =37 2 & vafs o2 99 %
(B) Hy %1 =i#r =33 & wafs g8 sa= &
(©) H, M Frog 5@ ¥ wafs 9% 99 &

(D) 395w § | = =
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48. What is the chance that a non-leap year contain 53 Mondays ?

(A)

(B)

(C)

S gl N

(D) None of the above
49. The Indian rupee is a legal tender in two other countries :
(A) Pakistan and Nepal
(B) Sri Lanka and Bhutan
(C) Bhutan and Nepal
‘ (D) Afghanistan and Pakistan
50. In the Harrod-Domar equation :

o B _
v
V is defined as :
(A) The value of the country’s capital stock
(B) The ratio of the country’s capital stock to its output
(C) The change in the country’s capitaj stock

(D) None of the above
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48. = wifg=ar ¥ ™ u= -9 =9 ¥ s53 S 89 2

(A)

(B)

N QN N e

C)
(D) == § 9 =18 9c9 =91

49. YWRGE 99 = BT == i F @9 = & 2
(A) W= wa JarE
(B) siici=wr wd w=r=
(C) €217 uwS A9
(D) =JFFEMEIETE US s

50. TA=-=1=T 9=

_ S
£ =35

H V = 39 e | gfturfsa & o= T o

(A) 291 = Ysit =% =1 HoH

(B) 391 & 4Sl =M+ F1 95 9| =E w1 STH9E
(C) ==1 = Isht =f< A qfiada

M) =9g=a | & = &

T.B.C. : 17/14/ET—I11 31



